Two discussion questions

Equivalent FDP

1. Angel the Archaeologist has uncovered an ancient tomb and a selection of cryptic
slabs! She has worked out that less than 6, but more than 3 different slabs are needed
In order to unseal the enfrance to the tomb.

She says,
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Explore the possible combinations of slabs that are needed in order to unseal the
tomb.

2. Martin is frying to solve the equation below.
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Complete the calculation so that the equation is correct.
Investigate other solutions o both of the equations, ensuring an equivalent fraction,
decimal or percentage Is used in one of the calculations, as shown above.




